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Âàðèàíò I
1. Ïîñòðîéòå ãðàôèê ôóíêöèè

y =
x3 − x2 + 1

x2 − 1
.

2. Ïîñòðîéòå ãðàôèê ôóíêöèè

y = 3
√

(2x− 1)x|x− 1|.
3. Íàéäèòå ìàêñèìàëüíóþ êðèâèçíó êðèâîé

y = ln(1 + ex).

4. Ïîñòðîéòå êðèâóþ

x =
1

t2 − 1
; y =

t2 + t + 1

t + 1
.

Âàðèàíò II
1. Ïîñòðîéòå ãðàôèê ôóíêöèè

y =
3x4 + x3 − 3x2 + 2

x3
.

2. Ïîñòðîéòå ãðàôèê ôóíêöèè

y = 3
√

(1− 3x)(3x− 2)|x|.
3. Íàéäèòå ìàêñèìàëüíóþ êðèâèçíó êðèâîé

y =
√

1 + x + x2.

4. Ïîñòðîéòå êðèâóþ

x =
(t + 1)2

t
; y =

(t− 1)2

t− 2
.
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Âàðèàíò III
1. Ïîñòðîéòå ãðàôèê ôóíêöèè

y =
−x3 + x2 − 4

x2 − 4
.

2. Ïîñòðîéòå ãðàôèê ôóíêöèè

y = 3
√

(2x + 1)x|x + 1|.

3. Íàéäèòå ìàêñèìàëüíóþ êðèâèçíó êðèâîé

y = ln ch x.

4. Ïîñòðîéòå êðèâóþ

x =
1

t(t− 2)
; y =

t− t2 − 1

t
.

Âàðèàíò IV
1. Ïîñòðîéòå ãðàôèê ôóíêöèè

y =
−24x4 + x3 + 6x2 − 1

x3
.

2. Ïîñòðîéòå ãðàôèê ôóíêöèè

y = 3
√

(3x + 1)(3x + 2)|x|.

3. Íàéäèòå ìàêñèìàëüíóþ êðèâèçíó êðèâîé

y =
√

3− x + x2.

4. Ïîñòðîéòå êðèâóþ

x =
(t− 3)2

t− 2
; y =

t2 + 1

t
.
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